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def suite(n):
u=1000
for i in range(n):
u=0.9*u+250
return u

def suite2(n): >>> suite(10)
u=1000 1976.98233985
for i in range(1l,n+l):
u=0.9*u+250 >>> suite2(10)

return u 1976.98233985
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def seuil():
u=1000
n=0
while u<=2200:
n=n+1
u=2500-1500*0.9%%*n
return 2020+n
def seuil2():
n=0
while suite(n)<=2200:
n=n+1
return 2020+n

W Lookee Lo mobos '\mﬂ-wt
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def seuil3(abonn):
u=1000
n=0
while u<=abonn:
n=n+1l
u=2500-1500%0.9**n
return 2020+n
def seuild(abonn):
n=0
while suite(n)<=abonn:
n=n+1l
return 2020+n

2036

2036

2036

2036

>>> seuil()

>>> seull2()

>>> seuil3(2200)

>>> seuild(2200)
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